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BACHELOR OF SCIENCE (B. Sc.)
Term-End Examination

December, 2022
LSE-07 : TAXONOMY AND EVOLUTION

Time : 2 Hours Maximum Marks : 50

Note : (i) Question No. 1 is compulsory.

(it) Attempt any four questions from
Question Nos. 2 to 6.

1. (a) Match the items given under Column A
with those given under Column B: 1x4=4

Column A Column B
(1) Origin of (1) Zooflagellata
Species
(11) Fern (2) Angiosperm

(11) Trypanosoma  (3) Darwin

(iv) Flowers and (4) Prothallus
fruits

(b) Define the following terms : 1x3=3
(1) Vestigial organ
(1) Fossils

(111) Taxon

P.T.O.
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Fill in the blanks in the following
statements by choosing the correct

alternative from the words given within

brackets : 1x3=3

(1) Mutation resulting from the addition
or deletion of base pairs is called

................... . (frameshift mutation/

Inversion mutation)

[G1) J (Natural
selection/Altruism) refers to a
behaviour pattern of an individual in
the population for the benefit of other

members.

(111) Scientific names are mostly in

....................... (Greek/Latin) language.

What is a herbarium ? Discuss the role of
Botanical gardens in the study of

taxonomy. 2+3

What is the importance of taxonomic

characters in classification of plants ? 5
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List three different kinds of speciation. Discuss

any one of them in detail. 10

(a) Describe the basic concepts of binomial

nomenclature. 5

(b) Write a note on ‘type specimen’. 5

Discuss the role of language in evolutionary

history of human species. 10

Write notes on any two of the following :
2x5=10

(1) Keys

(1) Alpha taxonomy

(ii1) Hybrid sterility

(iv) Neo-Darwinism

P.T.O.
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